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If C.P =X1920.00 and S.P = X2850.00, then profit =
(i) X923.00 (ii) X935.00 (iii)) ¥952.00 (iv) X930.00 (v) X906.00

If C.P =3%2550.00 and S.P = X1010.00, then loss =
(i) X1480.00 (ii) X1610.00 (iii) X1280.00 (iv) X1540.00 (v) X1790.00

If C.P = X1080.00 and S.P = X3450.00, then profit % =
(i) 219.44% (ii) 195.44% (iii) 237.44% (iv) 201.44% (v) 235.44%

If C.P =%1290.00 and S.P = X1210.00, then loss % =
(i) 6.20% (ii) 5.20% (iii) 4.20% (iv) 7.20% (v) 8.20%

If C.P =X1270.00 and profit = X2050.00, then S.P =
(i) X3320.00 (ii) X3100.00 (iii) X¥3250.00 (iv) X3470.00 (v) X3590.00

If C.P = %3550.00 and profit = £710.00, then profit % =
(i) 25.00% (ii) 23.00% (iii)) 20.00% (iv) 17.00% (v) 15.00%

If C.P =X1980.00 and profit % = 71.21%, then S.P =
(i) X3460.00 (ii) X3640.00 (iii) ¥3390.00 (iv) %X3230.00 (v) X3310.00

If C.P =%1180.00 and profit % = 233.90%, then profit =
(i) X3040.00 (ii) X2620.00 (iii) %2760.00 (iv) %2910.00 (v) %2630.00

If C.P =%4170.00 and loss = ¥490.00, then S.P =
(i) X3680.00 (ii) ¥3860.00 (iii) X3830.00 (iv) X3400.00 (v) X3520.00

If C.P =1980.00 and loss = X200.00, then loss % =
(i) 7.10% (ii) 15.10% (iii) 5.10% (iv) 10.10% (v) 13.10%

If C.P =%3710.00 and loss % = 52.29%, then S.P =
(i) X1740.00 (ii) X1950.00 (iii) X1620.00 (iv) X1770.00

If C.P = X3500.00 and loss % = 12.57%, then loss =
(i) X422.00 (ii) X446.00 (iii) X440.00 (iv) X463.00 (v) X413.00

If S.P = X3570.00 and profit = X650.00, then C.P =
(i) X3000.00 (ii) X2800.00 (iii)) X2880.00 (iv) X2920.00 (v) X3160.00

If S.P =X2740.00 and profit = X1650.00, then profit % =
(i) 139.38% (ii) 168.38% (iii) 151.38% (iv) 147.38%
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If S.P =X1570.00 and profit % = 42.73%, then C.P =

(i) X830.00 (ii) X1100.00

(iii) X1220.00

(iv) X1050.00 (v) X1160.00

If S.P = X4820.00 and profit % = 86.82%, then profit =

(i) X2100.00 (ii) X2320.00

(iii) X2090.00 (iv) X2380.00 (v) X2240.00

If S.P = X1660.00 and loss = ¥580.00, then C.P =

(i) X2180.00 (ii) X2240.00

(iii) X2490.00 (iv) X2310.00 (v) X2120.00

If S.P = %1590.00 and loss = X3100.00, then loss % =

(i) 69.10% (ii) 61.10% (iii)

71.10% (iv) 63.10% (v) 66.10%

If S.P = X1580.00 and loss % = 63.34%, then C.P =

(i) ¥4310.00 (ii) X4130.00 (iii) ¥4150.00 (iv) X4440.00 (v) X4460.00

If S.P =X1290.00 and loss % = 40.83%, then loss =

(i) X908.00 (ii) X875.00 (iii)) ¥864.00 (iv) X913.00 (v) X890.00

Find gain formula.

(i) S.p=M.P (ii)) C.P —=S.P (iii) S.P—-C.P (iv) M.P-C.P

Find loss formula.

(i) M.p—-C.P (ii) S.P—M.P (iii) C.P—-S.P (iv) S.P—-C.P

Find gain percentage formula.

. SP-C.P . SP-CP .. CP-5SP ) C.P-SP

(i) I x1001% (ii) [ X1001% (iii) [ X100]% (iv) [ X1001%
S.P C.P P

Find loss percentage formula.

M P 1001% iy 1P x1001% iy 1S >Fx1001% (v) (ST >F x100]%

i ii iii iv
C.P ° S.p ° C.P ° °

Find selling price formula.

100 + gain%

w 100

XC.P (ii)
Find cost price formula.
100 + loss%

. P i
(i) 100 XS (ii)

Two articles of the same cost price are sold. If one article incurs a gain of x% and other a loss of x%, then overall

%loss is

(i) 2x (ii) 1 (iii) O (iv) )2(

X
100 + loss%

X
100 + gain%

100

100 + loss%
100 in% ' “xCP
+ gain%

100

C.P (iii) C.P (iv)

100

100 + gain%
X X
100 + loss%

100

S.P (iii) P (iv) S.P



Two articles are sold at the same price. If one article incurs a gain of x% and other a loss of x%, then overall
" %loss is

100 100 x2 X

(i) » (ii) .x2 (iii) o0 (iv) 100
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